RX150/0.4A (B ) -80Q (H)
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RX 150/0.4A(B)-80Q RX150/0.4A (B)-80QH
HOESBE PL : 0.02 ~0.40MPa HOEIBEPL : 0.05~0.4 MPa
HOESEE P2 1 ~20 KPa HOESBEP2 - 0.02 ~0.35MPa
BEEEER BILACS RERBEESER =ILACL0
KAEIER BIXSG10 KAEIER BI£SG10
YR EER BIXAG10 YIS ESER BIXAG5
TYERE t: -20~60°C TIERE t: -20~60°C
HOER PN16 DN50 HOEE PN16 DN50
HOER PN16 DN8O HOER PN16 DNSO
: Vo =1
RX 150/0.4A(B)-80Q AEMERER
HOES BHOEAMPa
KPa 0.02 0.05 0.08 0.1 0.15 0.2 0.3 0.4
2 40 71 89 105 126 150 205 255
3 38 71 89 105 126 150 205 255
5 30 60 88 105 126 150 205 255
8 35 66 86 105 126 150 205 255
10 22 60 86 100 126 150 205 255
12 18 60 85 100 126 150 205 255
15 - 56 84 100 126 150 205 255
20 - 58 85 100 126 150 205 255
> e =1
RX 150/0.4A(B)-80QHAEMEiRE R
HOES HOESIMPa
MPa 0.05 0.1 0.15 0.2 0.25 03 0.35 0.4
0.02 60 110 130 160 180 205 230 260
0.03 50 150 180 240 280 320 345 370
0.05 - 135 180 240 280 320 345 400
0.08 - 120 180 240 280 320 345 400
0.10 - - 150 240 280 320 345 400
0.15 - - - 200 280 320 345 400
0.20 - - - - 205 240 345 400
0.30 - - - - - - 280 320
0.35 - - - - - - - 260

FPRENVERS TRRRASENEEAR0.6100RE , EAHCNE | MIARDHERIUEM R,
MERE : FtR - 1.05; Z#R - 0.76; THt - 0.55; Akt - 0.63; =5 -0.78;; S -0.79; ATHS - 1.17 ; Z& LKk - 0.63,
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